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1036 Presidential Trial Heats

Democrat Franklin D. Boosevelt vs, Republican Alf Landon

S5L—"

B % Rooszevelt % Landon
49 19 49 49 49 50 21
45 45 45 44 45 44 44
A 1936 Sep 1936 et 1936

Winner: Franklin D, Eoosevelt with 61% of the vote
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1048 Presidential Trial Heats

Demoerat Harry Truman vs, Bepublican Thomas Dewey

vs, Progressive Henry Wallaee v, "Dixiecrat” Strom Thurmond

B % Truman B % Dewey B % Wallace % Thurmond
0
46 47 49 A8 4B yoyn 4&_____;'1
L><~ - .',—-—-/:E
4 39 28 37 amn 3939 A0
7 7 'ﬁ 5 4_;5_ 99 4 4
23 oo 2o a
Feh 1048 Apr1g48 Jun 1048 Ang 1ggd et 1048

Winner: Harry Truman with 50% of the wote
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